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SECTION-1 : PSYCHOLOGY

Faqfe fagid & wfkures & : 1. - Propounder of Insight theory of
(A) S Learning is :
(A) Kohler
(B) ererEsh
(B) Thorndike
(C) fearT
(C) Skinner
(D) HrS | (D) Pavlov.
R 7 fhadl W@ ¥ AT wamn 2. How many Personali"ny types are
82 | - mentioned by Kretschner ?
v f—
% JA) AR _ (A) Four
b
(B) w (B) Two
(C) @ (C)sThree
(D) U= ‘ (D) Five.
oAl 1 TEEH Bt T 3.  Creativity is identified by :
(A) W 3L FRAES -ﬁ ) (A) 0Old behaviour
(B) fasier & (B) Drawing
(C) g = : - (C) Music
i .
5 * @) :Ia:‘l:I q—ﬁ[yn-q '@| ’ (D) New Result.
-2101-Series-C (3) P.T.0.

P — 1o d=97—8.00a Fears .




«Creativity 1S

4. qE fFg & : “ geresal eI 4. Who said this,
T T @ IR | el 22 essentially found in the new

. = » 9
construction or production

(A) S S
(A) James Drever
f OB S T (B) C.V. Good
~C) ® T F (C) Crow & Crow
(D) =1 (D) Stein.

5 sfirg & frel = gfaaes &4 | 5. Who is the propounder of Learning

?? rules ?

(A) I TE = (A) Crow &.Crow
AB) uifers _ (B) Thorndike
(©) 9.9 fremwE : .- (C) J.P. Guilford
(D) TR (D) Skinner.

6. F=a fa7et wEfgs 3y 396t | 6. Children whose mental age is

EANIREALETRC R ¥ F9 B T, lower than their Chronological
"""""" FEad 2 age, are known as:
(A) FfTaTed  STeTR " (A) Gifted Child
(B) WIURW AT (B) Normal Child
& @/\ﬂﬁﬂm YT . (C) Learning Disabled
(D) wfed A . D)/ Retarded Child
J-2101-series-c (4) -
B et s -~ ‘ = ‘




J-2101-Series-C

“aﬁmﬁammaﬁmuga-qm

B ST FHE H R oy
fre a2

(A) fem A
(B) firereis A
gy Tt 3
(D) &2 HI

fSa acw &1 9HAfas g sEwt

mméwa‘r,w'
qfg-afer feat 2ri?

&) 100

(B) 120

\

(C) 80

(D) 140.
o =R foed g=m fed 9 @

T & AR F aifhd ®9 H FE IE

Tl 2, FE S E

(A) Hafesw deig raee

(B) qd-wfwmarcas ST

(C) oqd wlerarcas 3Tael
MWW'

:-'l

“Children construct their own

understanding through

interaction with their

environment” stated by whom?
(A) Skinner

(B) Guilford

(C) Piaget

(D) Burt.

What is the 1.Q. of a Child whose
mental age is equal to the

Chronological age?
(A) 100
(B) 120
(C)r80

(D) 140.

The stage in which a Child begins
to think logically about objects and

events is known as :

(A) Sensory Motor Stage

(B) Pre-Operational Stage
(C) Formal Operational Stage

(D) Concrete Operational Stage-

P1.O.




10.

1.

12

B o 1 o 10.  Kindergarten system of Education
E was proposed by :
(A) 79 3 (A) Nunn
(B) ®W& 3 (B) Spencer
C-wEa 3 (C) Froebel
(Dg,‘ﬁﬂé'{q'ﬁ 1 (D) Montessori.
TE e fRwet 22 11.  Whose definition is this ?
“Hifam " e R fagm “The Psychology is the most basic
2" science of Education”.
(A) efag (A) Davis

. B) R B) Skinner
(C) sit.Ed. = (C) B.N. Jha
(D) 31 ¥ @i T (D) None of these.
fore AT WEEE € 12.  Educational Psychology is helpful in :
(A) STTeTET o (A) Maintaining discipline

o . (B) Knowl :
(B) T fawm & @ ° nowledge  of  Child
development *
geared |

©) (C) Evaluation

\ @ waffior faw =) (D) All round devel;:)pr_nent.

J-2101-Series-C (6)
: oo e —




RN RA B U $R-w fafy | 13, Which of the following methods is
senfus s 3R a'{;i&fg 2 considered as the most scientific
(A) faf .znd ol?jecti‘ve method of studying
BN ehaviour ?
B) yanmeRs  fafy (A) Observation method
(©) wdem fafy (B) Experimental method
(C) Survey method
(D) =AfRTa HEA (D) Case study method.
UREA 3wt faemm = figqt | 14, How many stages Erikson described
STaETd =g ? ' in Psycho-social development ?
(A) dTd (A) Five
(B) ¥ (B) Seven
(ey T3 (C) Eight
(D) dH1 (D) Three.
: TAN S, 9 & T e 0 a d d‘aenes are composed of :
L WwETL (A) D.NA. | _
. (B) IRTAT (B) RNA.
(C) TuigA (C) Chromosome
(D) YT (D) Sperm cell.
e e aINCIIC I ES T ga e : | 16. Each egg cell has a Chromosome :
B\ ) X (A) X
B) Y (B) Y
' C) XX
(C) XX G
(D) YY.
(D) YY.
PG
| . (7)
. 2101-Series-C |
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17. TR W S e €
(A) - #@ wA gerEd
(B) arqfaa srqwmed |
(C) Uf@R Here ¥
\\@3"3’@3311%
18. 1 ¥F § Wed w1 T ERHR W
ECi R
(A) SfremT]
(B) yU1 aragel

(C) quita Sqawer
f’tf(ﬁ/;waﬁ gt
5. e fare Wi @ R ST
g
(A) TEIH
(B) G >
AC) WmIfSd a4

(D) JerhIshTl

J-2101-Series-C
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18.

1

(8)

. (D) All the above.

Delinquency is often associated with : [
(A) Low parental support
(B) Inappropriate discipline

(C) Family discord

Pre-natal development is

commonly divided into the main

periods, called :
(A) Germinal
(B) Embryonic
(8 Fetal

(D) All the above.

The processof ............ 1s important

in Personality development.
(A) Identification

(B) Similarity

(®) Social attachments

(D) Separation.
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L)

TR A ST A Fafifigg o

(DY (A) 3R (B) I w

: Waﬁaﬁmﬁ'gma}

gfafsar & gefa 7@ =,
FEaTl §

(A) STHR FAH <l WSk
) fagw €9 A

(C) Waq Treler Wishan
m)sqﬂaaﬁ'@aﬁ'éﬂﬁﬁ
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20.

21.

(9)

22,

Skinner conducted his studies on

following :

(A) Rats

a

(B) Pigeons

(C) Dogs

(D) Both (A) and (B)

In Operational conditioning the

procedure of not reinforcing a

response is called :
(A) Shaping

(B) Extinction

(@) (Continuous reinforcement

(D) None of the above.

Which of the following is a system

pf Memory ?

(A) Sensory

(B) Short-term
(C) Long-term
(D) All the above

P.T.O.



23, WO §iEw # yeed sEwd © o

(AY TR
(B) gmm
(C) qA: Wi d

(D} 39a o 4 2 &

24. SRR A1 ol TR0 w1 @i kw24

S ?

(A) Fagery
- (By nfgaw
) fago

(D) W T ¥ FIE T

25. Y TR F U B ¢
(A) 2 "&UE
(B) 20 ¥FvE
(cj 172 d9&ve

D) 30 "HUE

J-2101-Series-C

(10)

23.

25.

The First stage of Memory is :
(A) Encoding

(B) Storage

(C) Retrieval

(D) None of the above.

Partial or complete loss of Memory

is called :

(A) Agnosia

(B) Ataxia
,,cef Amnesia

(D) None of the above.

Duration of short term Memory is:
(A) 2 seconds
- (B) 20 seconds

(C) Y% second

(D) 30 seconds



( e o =% —F
| DAL L5 1 S, 26.
Trdl ©
\) 7Y e
\ &Y Tm-faas fEa
(D) SYUad §H|
37. 1= i 9 o faae g wfer | 27
W25 AR 39 & = w E
Fead &2
(A) ol 7= g O
(B) "eaq W= qfs I
r AG) THR TR gfe 9™ ¢
() s TR 7= S
28 e wgfa fewe g wft B 28,
Te?
(A) wiEd
o 3
(B Trerifesw
(™ m
(D) Afen =
(11)

J-2101-Series-C

e w arreal._

Which of the Mental

actiyvite

mvolved in Thinking
(A) Inferring

(B) Abstracting

(C) Reasoning

(D) All the above.

Mentally retarded people have the

[.Q. ranging from 25 to 39 are

known as :
(A) Mild Mentally retarded
(B) Moderate Mentally retarded

(C) Severe Mentally retarded

(D) Profound Mentally retarded .

Who propounded the Projective

method ?

(A) Froebel

(B) Kilpatrick

(C) Armstrong

(D) Maria Montessori.

P.T.O.
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29 yd afy
I wa fagi
e Gid &1 gfduesd | 29.  Who was the propounder of
- Anticipatory theory of Play ?
(A) Hemre
(A) Malebranche
(B) Si. Vel wfe
(B) G. Stanley Hall
(C) Hagma
(C) Mec-Dougall
(D) «rSTeg|
(D) Lazarus.
30. o e ;< e A i
ks oA ArEa | 30, Who said, “Two children have no
"?
common abilities™
1 /’(A) W‘H
S (A) Hurlock
(B) |
(B). Nun
(C) TRAEA
(€) Sorenson
(D) & @&
) Td il (D) Crow & Crow.
i:
|
Bk
J-2101-Series-C (12)




SECTION-II : ENGLISH

Note : Find the a :
' . PPropriagte 34.- He shot the tiger dead :
alternative from the given option for |

the change of Voice : %) Tiger will be shot dead by him

B) L ' Y '
31.  Thebell was rung by the Chairmap - (B) Let the tiger be shot dead by

him
(A) The chairman was ringing the

bell (C) It was he who shot the tiger

dead

(B) The chairman had been

- The ti W
ringing the bell ~AD) The tiger was shot dead by

P him.
~(€) The chairman rang the bell

Note : Ch th .
(D) The chairman had rung the SESTENS [COITCGE MShivky

bell of the Idioms/Phrase from the given
ell. :

options :
32. Send this file in :
35, Smell a rat:

(A) This file be sent in | ;
) Suspect something foul

-(’B')J Let this file be sent in
(B) Bad smell

(C) This file is being sent in
(C) Very nervous

(D) You are requested to send this
(D) To be angry.

file in.

; 36. Out of the wood :
33. He was praised by his father :

~ . ; (A) Run away
y ~(A) His father praised him
(B) Take revenge
(B) His father praises him g

: +A€) Free from dangers
(C) His father is praising him &

(D) Rebuke.

(D) His father always praises him.

' [ P.T.O.
J-2101-Series-C (13)




37.  Cry for the moon :
(A) In sorrow
(B) Difficult situation

(C) To imitate

~TD) Ask for the impossible.

38.  Bring to light :

{A) Early morning

~B) Disclose

(C) Coming back to home

(D) Comfortable.

39. ‘In black and white’ means :

((A) In two colours
(B) In contrast

A0 In clear words

(D) In writing.

J_2101.Serie5-c

(14)

Note : Fill in the blanks with

appropriate word :

40.

Coylon 18 v island.

(A) the

‘Mn

41.

42.

(C) a

(D) be.

Time and tide .....coooveveveevnenn.. for

none.

A wait

(B) waiting
(C) waits

(D) waited.
....................... a Ford, he has a Fiat

(A" Besides
(B) With
(C) Except

(D) Between.



43, Hé 880 .cimsasenims . :
were good 46.  The word ‘Amateur’ means

(riends.

| (A (A) one who is mature enough

(B)- one who does some art or

(B) me

sport as a hobby
(C) my (C) one who is not mature enough
(D) am. (D) an artist by profession.

47.  Change into indirect speech :
44. Synonym of ‘Agony’ is :
He said, “If I were a King!”

(A) affau.' (A) He wished that he would be a

(B) agree King

] (B) He wished that he is a King
(C) pain

(C) He wished that he will be a
(D) happy. King

(D) He wished that he was a King.
45. The masculine of ‘Heifer’ is :

48. ‘Never tell alie’. Change the voice.

(A) Horse
_~AK) Let a lie never be told

\
(B) Hart (B) Let a lie never was told

(C) Ram (C) Let a lie never has told

(D) Let a lie never is told.

(D) Bullock.

P.T.O.
J-2101-Series-C (15)




19 An "Epie’ 18 v

(A) Songs handed down orally

from generation to generation

_B) a long narrative based on a

myth or legend
(C) a three line rhyming stanza

(D) two lines of a rhymic verse.

50. ! S rather die

than beg.
(A) would
(B) should
(CY could

(D) must.

51. Itisdifficult to distinguish ............

two sisters.
(A) in
(B) from

\ r'fﬁ')fbetween

(D) against.

J-2101-Series-C

- word which is most
Note: Choose the wol d

opposite in meaning to the word

printed in Capitals:
52. IMPLICATE

-

-(A) Embarras
(B) Explicit
(C) Exceptional

(15) Exonerate.

53. STERILE
(A) Imbecile
(B) Solitary
\ /{C) Fertile
(D) Unscrupulous.
54. LOGICAL
(A) Irrational
(B) Inconsiderate
(C) Inconsistent

(D) Clarity.

(16)




Note : Select the word which means Note : Out of the four given choices,

the same to the word printed in the | choose the one which corsestly

Capitals : stands for each expression :
55. ESCALATE 58. A piece of grass land :
~A) Rise (A) Prairie
(B) Diminish (B) Moor
(C) Roll on , (C) Untrodden
(D) Spiral. (D) Meadow.

%5, OMINOUS 59. A place for keeping birds :

(A) Helpless

—(A) Aviary
‘ (B Humble _ (B)..Zoo
(C) Restless (C) Circus
_{D) Sinister. ' (D) Home.
57. ENHANCE 60. An unmarried man :
(A) Embellish (A) Widower
' (B) Create | ~(B) Bachelor
-« (C) Increase (® Young
(D) Reveal. (D} Aged.
J-2101-Series-C (17) B1.0.
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SE(?’I‘ION-—HI : HINDI

61. L RIRC IEG| 64, afawer d Hard b Z N
\ M) AT = LA) qavI
|
J .
(B) TorEisE | (B) =d
(C) =rienfs (C) TAT=
(D) 379 | #1798 B St
62. V= SR f g A w v FHA-H e
3 . ¥ Sq-di el A
o =0 g @ o o | e o d HW T
FEd ©7 zr fafaa €l @7
(A) 8% (A) el
a.ﬁ o
® wra By o A T
~C) IrH1
(C) FRF
. (D). Wl @ wedt
“ (D) IAFRRI .
- 66. X Y
63. feg At # orgEm wm ww fe=st aviaren # ol fRdd =smam
fFa? TR 2 27
(A) 4 (A) 10
(B) 6 (B) 16
\4) 16 (C) 11
D) =79 ¥ = 7 . «€~D,)/33. |

J-2101-Series-C | (18)



67. Fom " T HA W R2 c0.  fagentas @) quen feEa wn w2

(A) PrECIEED (A) a.qﬂ
} (B SpumETSR |~ B) AT
(C) ¥F=are (C) it
(D) T |/ FE TEI (D) &8 ¥ wIE TR
o wCEdl’ W w1 OWERA fR 71, WSl T 2
fwan? '
| (A) i
(A) TIHERI T
| (B) Tt
| “(B) merEr was fgEd |
(C) fAf¥=a
(C) TH== ~
T £©) srafdten

(D) ¥ar9 TR A4l

. @S A w1 owem wwme 2 o: | afea €
(A) SHTHTEAT (A) 400
fl%.}ﬁm EEIE (B) 179
(C) Frhd | '7(57544
(D) Tl - D) TH ¥ Hig &I
J-2101-Series-C (19) | P.T.O.



73. oA Sl @t FHe GEA

(A) 11
(B) 36
(C) 31

_AD) 33.

74, US V= W GG H
(A) T4t
(B) w4
(C) HugrH]

(D) FUgTHETI

75. Y& V= H 999 HiEC
(A) ifecdis
(B) Wil

k(C)m

'\h—ﬂ){uﬁm!

J-2101-Series-C
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(A) T
17 ®) T

(C) a1

D) ¥ ¥ w7

(20)



79, ‘Ftt w1 afu fassk gm .
(A) & + 91
(B) &9 + 3%

E .x‘@ E'b_q T ﬁ

(D) 99 4§ =g T

0. “fygE" feEw WM w1 e
w9 @2
(A) 97
(B) &
(D) 4

81 'g=y’ fadtww w1 wv wffem @

B :

C(A) TR

J-2101-Series-C

(B) g
(C) T=X
(D) &8 fl"!:‘l HE el

83. "

84.

l

(21)

“qfggar” | favom amo
! @) 9fa=
~(B) ufesmenn
(C) =
(D) =g &
wfersara EFTE'I S -
. B R?
(A) ¥4 gL 99F
(B) I w® m
_;sw\’(C) IH O G
@) 3 ® F:E A
30 ST TH AR we omE efi- o
il .l?ﬁ?—“éﬂ frum ?2
&)
(B) T
(C) dmmEiys

"/}'\ﬁ)) 3R SIS |

P.T.O.



85. “sg” w1 wnfms o ® ¢
(A) St 9gd arg F @
(B) St w1 4 TH ®l
(C) 591 w1 w1 ®
_AD) S wgi-feren A #
86.  “aereel” w1 faemied @ wm?
(&) el
(B) dwr&t
~(C) ==
(D) TRIET
§7. ‘‘arwEd ¥ € W B W
HAl 9 27
(A) s%wfvs
AB) fasrei
1C) fawants
(D) 37 ¥ R e
J-2101-Series-C | (22)

88.

89.

90.

qdm § A wE
(A) mga Fward
(B) T &L
(©) afed &
%)wmm?%ﬁl
FE H I

A) frsfa

(B) e
<O 7

(D) iy gl
ECERU I

(A) ATTS{A

AB) I

(C) &

(D) Hfa=ty)




I

. i

~ Y4 2 = ] r \
I B Pl LR LIV R
7 ' S ) g ? h3.
Ly Wua 3
2. X2 T —= 182 —gl-Yu2 _-233 -Uw2 3
SR §o s T TS 2 9
w5 . . S
SECTION-1V : MATHEMATICS _. B4
=918 A
I
| T A
9]. gx\ ‘éi" + ;—2- :37 + %x%‘i 91. The simplification of %:;‘f
3 ., Ex{ildl\‘ + Ex:._z - _1_3);:?‘;‘ :
mmﬁnr«z%’% 11(5) 115 11 5'S
» 12rE
{l .&)/‘]3 I (A) —13 \
r-'-g
Bk F28 (B) -34 " ]
gt . ol
S (© -11 €S 35S
(g L P
(D) 52. (D) 52. 15 %6’3/
92. WH TR H g H A G S 2 92. A wire is bent to form a square of
et TH S 22 em IR side 22 ¢m. If the wire is rebent
AR & &N Tﬂ'e' HL gd 11 S to form a circle, then its radius
%.ﬁwqﬁaﬁﬁmﬁﬁ: will be - g{
A 22 em. ([ O) (A) 22 cm.
- 22— .
,’;--f"\iB)/ldl cm. (B) 14 cm.
¥ QnNiA= 38
(C) 11 cm. 8 = ggf"‘l (iC) 11 cm-
an
(D) 7 cm. q,a a (D) 7 cm.
10% +10% 10%2 +10%
3. Tom— M w | 93. Thevalueof = — i
; e
(A) 10 (A) 10
(B) 100 (B) 100
“(ep 101 (C) 101
(D) 1000. (D) 1000.
| J-2101-Series-C (23) P.T.O.



4. € 1 m?=x mm?, a1 x ol "M ®
(A) 1000 °
(BY 10000 b
m
(C) 100000

(D) 1000000.

05. TE ASH A fywm ¥ 28 el B
g 3R Al ®1 g @ g 50 7, @

TSI . 3G B :
'(?d?:,fc—ni
A 28w T o
wE X2
- 9 r’g—b;.u
e 1
(C) 12 9 - %9
(D) 20 @l — 3G~ 18
= A

0. A ot gW F AR 81m? 3,

al 3gT AN BT
P L (s
(A) 3nr | B G?.)@,
@TQM‘ J,#’ e
/?’
) 18mr ﬂ

T L 7
(D) 8lm. '8
H -
J-2101-Series-C

94.

95.

96.

(24)

e S o .
" Tz

,.._l——"f/—j
- 5

-

. 2 then the valuge
If 1 m?=xmm

of xis:

(A) 1000
(B) 10000
(C) 100000

(D) 1000000.

A girl is 28 year younger than her
father and sum of their age is 50

year, then the age of girl is:
(A) 22 years |
(B) 11 years
tC) 12 years

(D) 20 years.

The circumference of circle whose

area is 81 nr’is :

(A) 3nr }7(;]’—,’,%’

(B) 9 nr 71 )L,

(C) 18mr

(D) 81m



&) “ YO T DS

1 tio
3 _ B
(9.

()7. C,'\‘mr =AY ¥ [ ¥ o N .3 -
fert "'TE_:I 9 200 Tzl €, verg 599 97.  Out of 200 students in a School.
3 forehe e THE F ¥ e e 3 out of 5 like to play Cricket. How
fohehe @ wHg 72 Ha? many students do not like to play
(A) 60 Cricket :

(B) 80 (A) 60
(B) 80
(C) 100
- (©) 100
1 ~#D) 120. (D) 120.

98.  TH 2T 1500 m 2 3 40 km/hr 98. A 1500 m long train is going at a
FI 7fq @ = T 81 TE 2500 m o speed of 40km/hr. How much
HH H IR FH H fRan gug time will it take to pass through
et ? (g o a 2500 m platfrom ?

. gl - bo ko S
~~X) 6 min. é/ (A) 6 min. 274
(B) 10 min. (B) 10 min. S
| \PS w <
(C) 15 min (C) 15 min . x’?g S
(I 12 min (D) 12 min ‘%
99. 72 f&.H. wfq = &1 AF HEX Ui 99. The speed of 72 km/hr expressed
qFUs 2 : 600 in m/sec is :
721000 W ) 72x1000
Y 7@ 3600 le 3600
72x 3600 72 %3600
1000 1000
o) 72 x36 ©) 72x36
g 100 100
72x3600 72x 3600
D) e D) =700
‘ P.T.O.
J-2101-Series-C (25)



Y

/1:0/ 2.001+0.003 &1 9F © :
662\
L7667 q_;/ﬂ/g‘

(B) 700
(C) 0.7

(D) 376.

101, ® FE St A @t g ® i 7 A

I :
(A) 2
, Wil
(C) 4

(D) 3.

102. —gmmm%

(A) 7/8

.'*‘ - (D) -9/-8.

J-2101-Series-C

o

Q17

>

(26)

100.

101.

102.

2.001+0.003 18 equal to:
(A) 667
(B) 700
(C) 0.7

(D) 376.

Number which is neither prime

nor composite :
(A) 2

(B) 1

(C) 4

() 3.

" _8 .
Reciprocal of —= is

(A) 7/8
(B) 8/9

(C) 9/-8

(D) -9/-8.




103,

99 ugfa ¥ 50 & -
(A) XXX

(B) CL

3897 1 355 |/ N FH W 17 3
I ? 3% g’% ud |
_ ¥ g 36 L
JA) 1383435 v & ¢
4 H%\‘F\
_ \ c[\ 4
(B) 1338453 v }5
¢
5O
(C) 1384353 €

(D) 1384335.

~ 105. af% forddt Tmafa & 7/8 s 3 3/8 W
| 7 SR 112 B, W Ho wwfq FaRU:
.8 _
@242 =S g~ 1z
; - 32 _n
. w e
5 —_
(©) 422 T a2é
| = ‘Eﬁé
(D) 244. .
-2101-Series-C (27)

104.

105.

103. What is 50 in Roman system ?
(A) XXXXX

(B) €1,

(©) L

(D) LC.

What will come after multiplying
3897 by 355 ?

(A) 1383435

X' 34 )
(B) 1338453 E-%" =G
(CF1384853 AR _ 1o

_ b
(D) 1384335. Yoo 12

If the difference between 7/8th

—

part & 3/8th part of a property is

112, what is the whole property : !
(4) 242 U = €98
=

(B) 224 - 3%
C) 422 il
‘ %> 2n by
(D) 244.

PTO



106. Fma Fifew - 106. Find :

8.014 + 7.7 + 14.05 8.014 + 7.7 + 14.05:
% Q\U\o
\ A 20.764 '\”\:;SO (A) 29.764
| \%
(B) 29.674 o8- (B) 29.674
ral
(C) 28.764 (C) 28.764 r
(D) 28.647. (D) 28.647.
@I 40 =2, 07 fo92 4 | 38 52, 09 107. Find the difference between 40 hrs,
;_"5 e =g . w b o:’q )2 07 minutes & 38 hrs. 09 minutes:
v )
o © .
S &0] qu], 58 A2 M (A) 01 hr., 58 min.
..'} 4 ’
(B) 02 =2, 58 fade | (B) 02 hrs., 58 min.
(C) 01 =5U9al, 59 fg92 (C) 01 hr., 59 min. f'
~ (D) 01 =T, 57 firre (D) 01 hr., 57 min.
i
108. TH §Harg 39« 1 o™ 192 9. | 108. Perimeter ofan equilateral triangle
€l TR TH T H1 H19 9qrE0 is 192 cm. Find its one side
.. VAN 2 '
(A) 44 Q.. 3@0\@’ @ Ad
> \/
s N LR ol = v
\ AB) 6481 66 (B) 64 em.
\ _6Y
(C) 32 |7, LA (C) 32 cm.
(D) 66 4.T. (D) 66 cm.
J-2101-Series-C (28)
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. 6
109. 31 Hem =awy ‘1(;- “ ":/1'09. Find the unknown number :
1k
08, 64, 216, 2, 1000. 6// 08, 64, 216, 2, 1000.
(A) 864 (A) 864
. .
(B) 649 (B) 649
(C) 710 . (0) T10
D) 512. (D) 512.
5 6 . 5.6
110. §+3 %1 AF A6 HIGC : \ 110. Flndthevalueofg 5
X -q
€ & -
\.//(A) 61/30 %Q; - (A) 61/30
» : 50 . - i . = -
(B) 11/30 N u (B> 11/30
(C) or (C) 01
(D) 64/30. (D) 64/30.
/ JJ4096 +1296 = ? 111. /2096 + 1296 ?
S
44) 190 A I e y? (4) 10
f " VU zg ¢ _ |
(B) 12 (B) 12
(C) 71 (C) 71
(D) 42. (D) 42.

J-2101-Series-C (29) BT.O.
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[12. ¥ 12,600 &1 2 99 & faw 10%
FGH W F wwgfg =9 a4
EAIE LS 6

, |
KT 2142 /L?G"O‘E_)f‘(?o
)
(B) 2687 |72 GOO o> ]
oi)
(C) 2646 QQOOL (6*060"73“
(D) 2146.
a b
I13. [2x+5]° 2x — 5]2 %1 99 T4
Q"‘—T 'f tg'l’_
(A) 40 )
(B) 8x2 +50
~AC) 8x2 -t-40x+50
(D) — 40x.

114, ?840&%3@%@3@
3 714 H a9 S ?1 @ea ek
92 % A wifaT

T % M = HY
(B) T 325932 %
(C) T8 TI12%
(D) ¥ 126 9 15 %
(30)

“J-2101-Series-C

|

e

(60

TJ 112 Find the conu)()ul’ld interest of

113.

114.

T 12,600 for 2 years having rate

per annum 10% :
(A) 2142
(B) 2687
(C) 2646

(D) 2146.

Find the value of ;
L

[2x + 5]2 — [Zx 5]2

(A) 40x

@) 8x2+ 40x + 50 Q W + 2L

&
2R

(D) — 40x. ‘Q

was sold for ¥ 714. Find discount

and discount %. ! 6 wt 2§

(A) X296 & 27 9% Y

@w)-ﬁ’ & .pn?,hﬁwg‘
®) 8x2+ 50— Y2 P4 AS- f&”g

b g0 0S|

Market Price of a good is ¥ 840. It ,F:

E

(B) ¥ 325 & 32 %

(C) 385& 129

(D) 126 & 15 9,




Gb“-\\-:‘t »

Qljﬁ,f' 1 9 g farm =1 3fag uE #2 115.  Which of the following has large -t
value ?
(A) 0.0001
(A) 0.0001
(B) —— 1
1000 B) 1000
(C) (0.1000% . (C) (0.100)2
e B 1
e —=0.1 Py
{ ﬁ i \ (D) 10 0.1

116. 21,6,17,18,12,8,4, 13 % &lidei | 116. The range ofdata 21,6, 17, 18. 12.

BTG 8 8,4, 13 s :
‘o, 1 |
LAY 17 (A) 17
(B) 12 (B) 12
(C) 8 (8).8
(D) 15. (D), 15.

-

117. & d &1 4R TS Ia\\l'gﬂg @ | 117. The length of a rectangle is %th

g A 21 A Ed H1 9RET §0m. part of its breadth. If perimeter of
2, @ ITF1 &5k fhar grm? rectangle is 80 m., then area of
A) 48 m? or x% rectangleis:
‘;:‘30 (A) 48 m?
(B) 66.6 m? il (B) 666 m?
R EICE Y 4P -4 (C) 375 m?
| (D) 400 m2. gb‘- ? (D) 400 m2.
Cad

J-2101-Series-C (3l ) P10




J-2101-Series-C

118, 10 3T=Ht 71 12 3iRd sk HH i 10
el § # ¥ 5 emet oiR 6 oI
THIS IH HTH FI foha G H HUi?
(A) 8
AB) 10
1€ 12
(D) 15.
95% of 50% of 100% 3
p 2550 A 2 &
¥’
W}‘F B ®w 11% N =7,
55 3
7 (B) 0.1% 2
% ?/q,‘){ o 4
t A -~ Y
2.-(C) 0.01%
'1/‘7;‘ v
AN} (D) 1%.
b
v
120. X Y9 B ™ T B 3T H 25%

aiftrs &, dl 99 Ft A YW HI A
¥ fpae wfowd &9 82

(A) 25%

(B) 80%

|~ 20%

(D) 75%.

118.

119.

120.

(32)

. complete one
. . omen co
10 Men or 12 W

any days
5 how many day:
job 1 ays. In
_]Ob in 10 de b

do 5 Men and 6 Women together
0 (<

complete the job ?

(A) 8
(B) 10
(C) 12
(D) 15.°

M% is equal to :
25 % .

(A) 1.1%
(B). 0.1%
(C) 0.01%

(D) 1%.

If income of Prem is 25% more than

income of Jai, then Jai’s income is

less than Prem’s income by :
(A) 25%

(B) 80%

- (O) '20%

(D) 75%.

Q\»{)

e e



SECTION-V : EVS (Sci.), GK and EVS (SST)

121. <% |9 ey
P M R 121. Who is Lok Sabha Speaker?

(A) gfapesema

(A) Sumitra Mahajan

L
(B) guar =«
) (B) Sushma Swaraj

(C) e e (C) Balram Jakhar

LD',),,B:IIITI fargam (D) Om Birla.
122. &= faa o=t =F 2 122. Who is the Union Finance

Minister?

(A) Jagat Prakash Nadda

(B) 37801 el
(B) Arun Jaitley
(©) i (G)=Prakash Javadekar
i D) frden daro (D) Nirmala Sitharaman.

123, W o § Septedl & fag faar | 123. Which of the following Awards is
S Al QTR HH-9 2?2 given for excellence in Sports

coaching?

(A) Tifecg 3TepgHl PR
" (A) Sahitya Akademi Award

el G
£ __»/
| SB) T IR (B) Dronacharya Award

(C) 3™ [W&HR (C) Arjun Award

(D) T GRd Eed R (D) Dada Saheb Phalke Award.

P.T.0.
J-2101-Series-C (33) ‘




126.

J-2101-Series-C

4o TR (HRT) U 'S R OWRASE T | 124,
TU 2015 ¥ HERR §R Wafdd i
= § s9-m1 ®2
(A) 53 TEI3 AR @St
(B) W& ams v wed
Q) FA mEa WA ugren
(D) & s 291 aen
WG W wad afus < frel aen | oqo5.
FHE-T T 2?2
(A) faer
(B) “fermom
(C) g9
~(D) ST w29l
e dweds wHiw faw @ | 126
T or?
(@) gl
(B) argam™
AC) el
(D) &1
(34)

Which among the following 18 the

3 i» 20156 by
programme launched M - 3

the Govt. keeping the Female

foeticide in mind?

(A) Beti Bachao Naam Kamao

(B) Beti Bachao Desh Bachao
(C) Beti Bachao Beti Padhao

'(D) Beti Bachao Desh Banao.

Which of the State has the largest

number of Sugar mills in India ?
(A) Bihar

(B) Haryana

(€) Punjab

(D) Uttar Pradesh.

To which deal was Augusta

Westland Associated?
(A) Submarine

(B) Aircraft

(C) Helicopter

(D) Tank.




127. 4t e freg 3

127.  Shri Harikota is situated in :

(&) Fafes (A) Karnataka

(B) St (B) Odisha

(©) g w_w (C) Andhra Pradesh
(D) "%y ﬁ?‘[l

(D) Madhya Pradesh.

2
128. HRAI 9PRE W9 % f59 wex @ | 19 From which City of China did the

AT g7 Coronavirus start?
(A) e (A) Sanghai

ﬁ 4\‘:_3)'%1" (B) Wuhan
(C) e | (C) Beijing ‘
(D) ﬂm!l | » ol bl &D) Guangzhou.

129; femre wiw # A # fEAR | 129, How many Rajya Sabha seats are

-

W D  there in Himachal Pradesh?
(A) 5 B A (A) 5
@y x B4
-'»;&-@')"3 B - (©3
| (b) 2. (D) 2.
J-2101-Series-C (35) o - < BB,




130. 3 auiad el e 22
(A) T
(B) ST emfE
f_(‘rm gfaqor aﬁﬁm

D) STHIHT

131. fr=fafea & eR-ar e == 22
: L !
- (A) B4l
E. ":ZB) QUE h1 Hedd Al
(C) y=
(D) e | <
K
~
opK ~—
N
132. 10°C 99 &UaK @ O
(A) 163 K
(B) 10 K
(Cy 183 K
D) 283 K.
J-2101-Series-C

130. Where is t

131.

132.

(36)

he Amazon rain forest

where it 18 locatcd?
(A) Asia
(B) North America

(C) South America

(D) Africa.

Which of the following 1s not a

matter?

(A) Air

(B) Feeling of cold
). Dust

(D) Humidity.

10°C temperature is equal to :

(A) 163 K

(B) 10 K
(C) 183 K

(D) 283 K.

TR TTS




133. 7 8 #H-w U W& | 133

Which of the following is not a

‘ Metal?
(A) TR (A) Copper
(B) =gt ‘ (B) Silver
(C) ¥rem - (C) Lead

| — (D) faega | (D) Bismuth,

134.  Fretfefed & @ &9 @ A% = 22 | 134, Which of the following is not a

(A) . Compound?

(A) Marble

(B) ®9 oI &I Hiel
(B) Washing Soda

(C) e7gem A1 | &) Quick lime

i (b) et (D) Brass.

~

135. 100°C X 9T aﬁr 3TN B B 135. The state of Water at 100°C is :

o i . - (A) Solid'
e | | (B) .Vapours
i - (C) Liquid
| g AD) 5@ R & | | (D) Liquid and Vapour.

J-2101-Series-C | (37) PO,




136, el ) st el fres g | 186, The indivisibility OflMattcr was

_ yeafad &t T2 proposed by :
(A) T®IHS ' (A) Rutherford
\ ~IB) < (B) Dalton
\
(C) aex (C) Bohr
(D) SABETEA| (D) Einstein.
137. & Fohe & T I T 137. Correct formula of Ferric sulphate
is:
(A) FeSO,
(A) FeSO,

(B) Fe(SO,),
(B) Fe(SO,),

(C) FeS(SO4)2 ] (C) FGB(SO4 )»)

L r i

138. @feyrgn @EiAe § wfcygm & | 138, The percentage of Calcium in

WL Calcium Carbonate is
T o (A) 40

(B 30 (B) 30

- 48 (C) 48

A . | (D) 36.

J-2101-Series-C (38)




130. fFm mem 4 At dw owem | 130,

~(A) 24
(B) =3

(C) |

(D) 399 9 2 T

(A) 9.46x1015 =t
(B) 9.46x1012 ..
(C) 9.46x1017 7.41.

feezy IYUTH gl

(A)-=Td
(B) =Tt
(@) WIeE

(D) fazra=i

J-2101-Series-C (39)

140. U& WhTYT 99 FUad BE1 B - 140.

14]. FT wEAT H GE 2 141.

In which medium Sound travels

faster?

(A) Sohid

(B) Liquid

(C) Gas

(D) None of these.

One Light year is equal to :

(A) 9.46x101% m.

(B)-9.46x10!2 km.

(G)-9.46%x1017 em.

(D) All the above.

Tuber crops are source of :

(A) Starch

(B) Sugar

(C) Proteins

(D) Vitamins.




142, ween fadfes tm @
(A) T

(B) ey

C) et

(D) Umfasi

143, Tad Bl UG ® 143.

J-2101-Series-C =~ (40)

142.

144.

First Synthetic ['iber 15

(A) Rayon
(B) Polyester
(C) Nylon

(D) Acrylic.

The lightest metal is

(A) Gold

(B) Lithium

(C) Calcium

(D) Mercury.

Complete combustion takes place
in the Candle flame in its -

(A) Inner zone

(B) Middle zone
(C) Outer zé)ne



(A) #Hteq

(BY TerdTsit
(C) U
~"(D) BIEgIoA|
146. Fuifer™ &1 wEw frg 3y g
o ?
;, AK) BT
(B) w4
(C) seit
(D) 3]

147. fFg =d =9 T =R & foau
g & e i?

(A) 1859
“(B) 1869
(C) 1845

(D) 1679.

J:2101-SeriesC - (41)

146.

147.

Which of the following is considered

as a fuel with highest Calorific value?

(A) Methane
(B) LPG
(C) Petrol

(D) Hydrogen.

Napoleon was associated with

which Country?
(A) French

(B) Spain

(C) Ttaly

(D) England.

In which year Suej Canal was

opened for Trade?

(A) 1859

" (B) 1869

(C) 1845

(D) 1679.

P.T.O.




atb :

148, BEE STEUA HEAH waf @ feord | 148, C.R.L s situated

22
(A) Shimla
Q) femen
(B) Dharamshala
(B) YHYITE
~C) ExeIril (C) Kasauli
(D) wRTEl ' (D) Mashobra.

e . Hfewa wer fee 149. Swami Vivekanand Medical

o Institute is located at:
S (A) Tanda

@) e (B)- Shimla

(©) e () Solan

s Dy e (D) Palampur.

150. & EF‘TI?{:I g E{,@T YRd 1 T 150. The State of India associated with |

2 Saffron production is :
(A) 3T _ | | (A) Assam
(By. ufy=m &Te | (B) West Bengal
4C) 9 aﬁ'( FHTHAN | (C) Jammu & Kashmir
(D) tfﬁ'ﬁ'l“ | (D) Punjab.

J-2101-Series-C (42) \:b




